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SN AP
I 2 BY . R0 ABEA L EASID(EA/EHR
CHol: el sty (crel @
_ _ PSiE =
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
2EY B Y2 FX 12,000
SHE2OF AIE - ZAS IHE XYY JlpRs 190,000 160,000 30,000
= 95,000
Al 95,000
101 QI 2A4H| 33,570 0 33,570
= 16,785
Al 16,785
04 JIZH2RUSES 33,570 0 33,570
Hopel(Mg) 2% 2xed
1,525,9002 x22 112 33,570
= 16,785
Al 16,785
201 et 71,800 125,800 54,000
= 35,900
Al 35,900
01 AtR2t2/H| 33,900 55,800 £21,900
=FEAI oo 33,900
SPIH S Ot 5,000
= 2,500
Al 2,500
HECAH L S3IX 7Y 200,008 <255 5,000
= 2,500
Al 2,500
17| A2E PY(ICP/MS ) 23,900
= 11,950
Al 11,950
02 BBl 37,900 70,000 32,100
ABZ AR R X 22l (HRGC/HRNS S3123) 37,900
= 18,950
Al 18,950
202 01l 14,096 6,064 8,032
= 7,048
Al 7,048
01 =LHoil 9,096 6,064 3,032
1S L 3loEA 9,096
= 4,548
Al 4,548
04 2I5H0IH] 5,000 0 5,000
HCHe LS EA 5,000
= 2,500
Al 2,500
207 eIl 70,534 28,136 42,398
= 35,267
Al 35,267
03 AlE &7 70,534 28,136 42,398
ABZA T2 70,534




SN
X XH .
S Tt

el

SH-EFHHA(FA) - NIRAE - BES Of &K glggi; Hlns2t
EEA LAY 62,428
= 31,214
Al 31,214
CAIEIIR 8,106
= 4,053
Al 4,053
AR AFA HE 3,700,000 8,232,000 4,532,000
401 A& HILRHYI 3,700,000 8,232,000 A4,532,000
01 Al&H] 3,700,000 7,873,000 A4,173,000
AR AFAL HE (P AE) 3,700,000
AR AIFAF O|H 1,398,320 0 1,398,320
201 ety 281,000 0 281,000
01 AFR22/Hl 268,000 0 268,000
OlAtHIZ 250,000
SXANSEEY WM - S - OIS 97,967
Hl L Il ZEOA 152,033
HAIQZHE 2 OIS S AIZ2 ME 18,000
03 Al2HHI 13,000 0 13,000
AE AR DN AL S A 13,000
405 XHAHE SH 1,117,320 0 1,117,320
01 XL SEHSHI 1,117,320 0 1,117,320
AT P2 954,000
8 DRAME 2ERY 3,320
LD Z2NE 2,800,000 »1CH 2,800
AR /TZZHMELEY(0ISA)
520,000+ 17K 520
MREIIR 2 ZI| Y S 160,000
HAL SX L 22 627,397 529,393 98,004
201 ety 457,914 376,876 81,038
01 AFR22/HI 89,207 82,032 7,175
SOIYRAIL ERAL 10,582
=2 3,766
- A 966
—AF AL 2,800
S SAS AL 2,640
EASAMAAA 1,584
SIIEEEY 72,0002 «30H A 122 2,592
H4AE X2l +42 20,016
2ASHAAR 72,0002 x20E 128 17,280
SASAAA 72,0002 * 1E+20H A %128 1,728
EASAMA AL 1,008
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SN

22 2
HE: 22 #Y - S0 ABAA L TAGT(22/22402)
SRl AW KB AA L oY (el &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol AF o8 Hws2
405 XHAHE SHI 30,600 2,000 28,600
01 RAUSEH S| 30,600 2,000 28,600
It ElI=F=9] 23,000
W4z D 2,000
SHM MK (5VA) 4,100
= 1,500
FQAABTRAAAL () 51,308 48,500 2,808
2 25,654
Al 25,654
101 121l 18,940 17,566 1,374
2 9,470
Al 9,470
04 JIAHIZXS S+ 18,940 17,566 1,374
MEAANRE P4 18,940
2 9,470
Al 9,470
201 Yer2 YY) 1,500 3,710 £2,210
2 750
Al 750
01 AR el 1,500 3,710 A2,210
NSBE(HUBE S) 7Y 1,500
= 750
Al 750
202 01t 1,446 1,516 ATO
2 723
Al 723
01 2UHoiHl 1,446 1,516 AT0
2oy a5l o NS &4 1,446
2 723
Al 723
207 P EI 29,422 25,708 3,714
2 14,711
Al 14,711
03 AlE Q| 29,422 25,708 3,714
NEEVSELI 29,422
2 14,711
Al 14,711
M0l = ZEIISHE Arel 100,000 100,000 0
| 50,000
Al 50,000
101 @121t 18,940 17,566 1,374
| 9,470
Al 9,470
VIBIEDTEES TR 8,940 17,566 1,374




SN BASAADY
HE: P2 2SS0 AETA L TAGT(RA/EAR)
Sl 2 28 AN L oY (el &2
SA-EH O (BH) - HBAY - B2 o dd = HRS2
0 &+ 08
AEHAMAMNRR B 18,940
J| 9,470
Al 9,470
202 04| 600 1,516 N916
J| 300
Al 300
01 2Wobl 600 1,516 N916
oozt ¥ gy &4 600
J| 300
Al 300
207 A FoHed| 80,460 80,918 N458
J| 40,230
Al 40,230
03 A& 32HI 80,460 80,918 A458
AEZ AT E B 80,460
J| 40,230
Al 40,230
20l A 2ItAEA 2AS 29 28,588 28,588 0
J| 8,588
Al 20,000
207 S FIH | 28,588 28,588 0
J| 8,588
Al 20,000
03 A& 32| 28,588 28,588 0
280l A RCSAIZ S 28,588
| 8,588
Al 20,000
AMSE - MAHT A E ZA 126,395 69,488 56,907
201 Et24d| 5,395 3,638 1,757
01 At Zelbl 3,395 1,638 1,757
BAAZAANRE D2 4| 50,0003 *x3 150
BAHAZARE W A =H 200
HIANUAZRA S S| 3,045
02 3294l 2,000 2,000 0
AE A AEE X2 200,000& 108 2,000
207 Ao 45,000 45,000 0
03 A& A H| 45,000 45,000 0
AEZ A MHZHI 45,000
Al &F 27,000
dElPR 2 ES 18,000
405 KHAFSHI 76,000 3,850 72,150
01 MY =S EF SHI 76,000 3,850 72,150
AAIFSE X2 A D] (Real Time PCR) 65,000




SN
X XH .
S Tt

el

Ao
B2 - BA20F ABEA L EART(E
S8 A Y oY

_ _ _ Muo
2N -3 - c2(3H) - NEME - HES ol loﬂ/l\_Fo” Hns
LIEHHN 28D (shaking incubator) 5,000
SOHHE D 6,000
ZEYEXEHE NCHHE AFE (A 102,500 110,000 A7,500
Jl 41,000
Al 61,500
101 ol 24| 37,880 52,698 N 14,818
| 15,152
Al 22,728
04 JI2ZtMZ2E2XNHsSE+ 37,880 52,698 N 14,818
ASAMAANRLY E(29) 37,880
J| 15,152
Al 22,728
207 AR 17,120 57,302 A40,182
Dl 6,848
Al 10,272
03 A& 2HI 17,120 57,302 N40,182
AEZ AT E B 17,120
J| 6,848
Al 10,272
307 QIz2to| A 47,500 0 47,500
J| 19,000
Al 28,500
05 oIzt e2 47,500 0 47,500
MEOMAEA RAEAY| 47,500
Jl 19,000
Al 28,500
ZEHEX A HE RNCHE AP (XH2) 60,000 0 60,000
J| 24,000
Al 36,000
405 KHAHFE S 60,000 0 60,000
J| 24,000
Al 36,000
01 XM 2 ZFHSHI 60,000 0 60,000
ELISA(EABE=HD]) 25,000
Jl 10,000
Al 15,000
N S 12,000
J| 4,800
Al 7,200
ZMeds) 8,500
Dl 3,400
Al 5,100
=S ME X 14,500
J| 5,800
Al 8,700
MEHAE AL 30,600 30,600 0




SN BABRADS
HE: 22 #Y - S0 ABAA L TAGT(22/22402)
Sl 2o R AA L oY (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol Ol AF o8 Hws2
] 15,300
Al 15,300
101 121yl 8,940 17,570 1,370
| 9,470
Al 9,470
04 JIVH2EHS L4 18,940 17,570 1,370
MEA AR B2 18,940
o] 9,470
Al 9,470
207 HPIHLEI 11,660 13,080 A1,370
| 5,830
Al 5,830
03 AlE Q| 11,660 13,080 A1,370
NEEIELI 1,660
| 5,830
Al 5,830
S04 - AIBIIHY 2EY 2AY 2 39,000 40,000 A1,000
| 19,500
Al 19,500
101 o121l 18,940 17,570 1,370
| 9,470
Al 9,470
04 JIAHIEZXESS 8,940 17,570 1,370
MEM AN B2 8,940
9] 9,470
Al 9,470
202 04t 2,000 2,000 0
| 1,000
Al 1,000
01 =Uyoit] 2,000 2,000 0
slo o stal &4 2,000
| 1,000
Al 1,000
207 R Y 18,060 20,430 A2,370
o] 9,030
Al 9,030
03 AlE 7| 18,060 20,430 A2,370
NEEVSELI 18,060
| 9,030
Al 9,030
2hZ S0 2 X R 2 E AL 35,250 0 35,250
| 17,625
Al 17,625
201 Yer2 gyl 1,000 0 1,000
| 500
Al 500

_11_




2N 2ASFATY
HE: 292 BY - SAMS0F AIEBA L TAAR(2A/2A9R)
SRl 2ol R AA L oY (e @
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol Ol Ak O Blusz
02 IT2YH| 1,000 0 1,000
2AARRTY X 2] 1,000
| 500
Al 500
202 01t 1,000 0 1,000
| 500
Al 500
01 =2Uioibl 1,000 0 1,000
2Pt 510 U BE FA 1,000
o] 500
Al 500
207 2RIl 33,250 0 33,250
| 16,625
Al 16,625
03 Algiei | 33,250 0 33,250
Z=AHAA FCHA 33,250
| 16,625
Al 16,625
NESD AN 2 117,590 0 117,590
= 58,795
Al 58,795
101 Q124 37,880 0 37,880
= 18,940
Al 18,940
04 JARZRIIS LS 37,880 0 37,880
MEA ZARE 24 37,880
=2 18,940
Al 8,940
207 ATl 79,710 0 79,710
= 39,855
Al 39,855
03 Algei | 79,710 0 79,710
ANEZ A T2 HI 79,710
= 39,855
Al 39,855
AL OlHE - S OFY BB 489,146 431,766 57,380
HDXE 1 : A UE OFN PHE
ST ST 100 %
HDNNE 2 SH2 OHHY 2B
SHEE ST 1 100 %
= 116,500
3 44,808
Al 327,838
Al OlbE OIF K 2 A 40,750 52,000 A11,250
201 Yer2 Y| 7,000 7,000 0




SN
X XH .
S Tt

el

SH-EH . O3 - MBAY - BAS o e HRZ2

02 ss2494l 7,000 7,000 0
AE A AEH SA22] 7,000

207 S FIH | 33,750 30,000 3,750

03 A& ™2 33,750 30,000 3,750
AEZ AT Z B 33,750
Al SF 17,500
AEIIF Y 2 12,500
HZE gArA 2,000
N A ADFA 1,750

AMES Rol=E SELA 41,544 42,738 AN1,194
= 41,544

101 o1 21H| 32,048 17,500 14,548
= 32,048

04 JIZtMI22NHsSE 32,048 17,500 14,548
ASHA HARA B4 32,048
= 32,048

207 A FoHed| 9,496 25,238 N15,742
= 9,496

03 A& ™I 9,496 25,238 N15,742
AEE A MZHI 9,496
& 9,496

AEA HAIs=E 235 233,000 120,000 113,000
= 116,500
Al 116,500

405 KHAEF SHI 233,000 120,000 113,000
= 116,500
Al 116,500

01 M =SF SHI 233,000 120,000 113,000
SCZeEtE0E 2EAI|(ICP/MS) 233,000
= 116,500
Al 116,500

o|erZzted AL 3,264 3,440 AN 176
= 3,264

207 A FoHe| 3,264 3,440 N176
= 3,264

03 A& 2HI 3,264 3,440 N176
AE 2 AHH 28I 3,264
= 3,264

SNE 2= HA 170,588 213,588 A 43,000

201 B3| 33,588 33,588 0

01 At22teldl 4,788 4,788 0
2 SAE S ZAN SEH] 4,788

_13_




SN EASBHAD
HE: 92 B3 SA20F ABAAN L TAGD(SA/2AR)
CHPl: Al OJOtE . SA2 OIE M B (e d e
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
02 =234l 28,800 28,800 0
ANESBAEH SA22 28,800
207 AN Y| 137,000 120,000 17,000
03 A& A HI 137,000 120,000 17,000
ANEZATH Z 8l 137,000
Al 50,000
ANEDIR & 28 50,000
DIES 4,000
ANZ 33,000
=& 2 E2 &&F A 388,113 461,950 AT3,837
SUNE | SHASTY 2B
gold s SEX 100 %
AWMXE 2 A2 =82e 2HE
golEs SEX : 100 %
| 7,165
Al 380,948
SEZEEEY 2 41,950 49,950 /8,000
201 Let2d| 5,950 5,950 0
01 AtE22/Hl 1,950 1,950 0
SEZEIY 2 2HE EB 1,950
02 2323l 4,000 4,000 0
ANEZALZH SAl22 4,000
207 A0 36,000 36,000 0
03 A& A | 36,000 36,000 0
ANE B A= YI 36,000
AlSf 14,000
AR & BES 22,000
He== & H= ZA 232,498 172,500 59,998
201 LBt 3| 6,498 6,500 A2
02 =234l 6,498 6,500 A2
ANEZAZH S22 6,498
AEEAD| 1,166,000 *3CH 3,498
IIAIZ0LEDHE ZHISXI(6GC)
500,000& +2CH 1,000
-OI23Z0IEDHE HHISX(IC)
1,000,000 *2CH 2,000
207 Ao 76,000 76,000 0
03 A&l HI 76,000 76,000 0
ANE AT Z I 76,000
- Al 23,000

_14_
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2M: BA
MM BAH . &
]

el

S BB SR (B) - NEAY - BAS 0f & o Soe DB
-VOC, HCHO AlZ2 M= DI 131, 1003 = 14LH 1,836
- OIMIX AlZ2 THH DI 131, 100& = 10CH 1,311
- B2RAE AE HHDI 131, 100& ~20H 263
- SAHAZE HH D 131, 1003 ~4CH 525
L QUAPSIEIA - O] ANSIEFA EF D)
580,000 +6CH 3,480
QF 0latatE A =HD| 580,000 »2CH 1,160
ct==d0| 370
dUSIIE=EEY 7L 21,000
SHEAN 222 = 100,000 «5& 500
02 3323l 4,000 7,000 A3,000
AUSIIE ZAEH |X2e 2,000
SAHEAEH RX2a 2,000
207 & 1OH2H| 27,550 26,150 1,400
03 A&l +HI 27,550 26,150 1,400
2USIIEEZEY 2BEME 6,750
AUSIIE ANEIA W= 6,100
Alef 1,800
ANEJI7 & 23 2,400
JtA 1,900
ABIFHAIE SIIE Mg S A HEH 1,000
AlSf 300
NI & ES 400
- JtA 300
SLOlotols 24 AIgZ A ME=tl 3,900
Al 1,000
AN & ES 2,900
SEHEA ANESM HZ 9,800
< AlSf 2,300
CSAEDI 2 ES 3,000
JtA 4,500
307 2120l & 86,400 71,400 15,000
05 BI2tAE S 86,400 71,400 15,000
2USIIEEZEY FX22 A
800,000 90 A+ 123 86,400
AMEE D282 M 2 AS5EY 24 29,950 31,950 A2,000
201 Y2 Y| 6. 150 8, 150 ~2,000
01 AtR2teld] 1,850 2,150 A300
HEHM =8 1,850
=SEAME MHHFAEX 500,000& ~2CH 1,000
CHOIBHEIt A =ZI1(S0x S)
350,000 »2CH 700
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SN BABHARE
M B2 2E - SMZ20F AIEEAN L ZAIER(BH/BHR)
SRl Tl 838 XAt (9 ®2
SA A B(S) - NEAY - BAS of S Hl R =2
0 &t
CHOIBH & ot A =& DI (THC) 150,000 *1CH 150
02 23234l 4,300 6,000 21,700
ANEZALEE S22l 4,300
HAZHD| 600,000 =4CH 2,400
25 AESHFEX 300,000& =4CH 1,200
g4 0| 700,000 = 1CH 700
202 (44l 9,600 9,600 0
02 MY 9,600 9,600 0
oI1LEE SFHR =& 200,000 *4F 123 9,600
207 A0 E | 14,200 14,200 0
03 A8l 14,200 14,200 0
MBEUHIIRLE2E L ASXSHA M=l 9,000
AlSf 3,000& *1,00024 3,000
CAEIIR Y B 6,000& x1,0004 6,000
A22EFIII 28 M=l 1,300, 0003 *4 4 2~ 5,200
oF 9 ARM=E =F - 24 192,620 195,920 A 3,300
201 LEt23d| 73,000 85,000 A 12,000
01 AbR22lH| 49,000 59,000 A 10,000
off U FYARIISHESE(V00s) HESE))
Jl 28372 4,500,000 24 2~ 9,000
ofF U FUHRIGEZ2E(VOCs) AsSSHA
ANAE =M 20,000, 0002 *2JH 2~ 40,000
02 2223l 24,000 26,000 A2,000
AFASZAEEH 72l 5,000
PN MREEX EEX WA 2,000
BZRNESE AMEIAMEH A2 17,000
202 O4H| 3,500 0 3,500
04 =H=2te Yl 3,500 0 3,500
=Hes =2%H 3,500
207 ALY 60,920 60,920 0
03 A&l 60,920 60,920 0
oy 2 SFUMHRIISESE(VOCs) HSEHI|
Jl 29 Mzl 4,560
S AEI AN AIEZ A THZHI 11,000
Al <t 4,050
AEIF ¥ ES 4,950
JbA 2,000
StERHEE AEZ AL MEZHI 45,360
Al Sk 30,360
Al 2 BB 15,000
307 SI2t0l™ 55,200 50,000 5,200
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600
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AB0
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6,820
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6,820

47,956
8,556
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35,400

35,400

26,000

10,000

10,000

=
o

s
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20,000
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40,000
40,000
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10,000
20,000
10,000
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7,420
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fir

Al
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7,420
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1,320

Al

3,600
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7,056
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10,000
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SN EASBHAD
By 92 8 SM200 AGBA L ZAR(2A/2AAR
Sl JIEFEY oY U BH2 OES B (e d e
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= 8,000
Al 8,000
02 =234l 16,000 16,000 0
S MEH FX 2 16,000
2 8,000
Al 8,000
s HAHRE) 50,000 12,000 38,000
= 25,000
Al 25,000
405 KHAHFESHI 50,000 12,000 38,000
= 25,000
Al 25,000
01 T ESSHSHI 50,000 12,000 38,000
F4otE ZALEI 50,000
AHEZIEQIH 50,000
= 25,000
Al 25,000
HMSHAH (B HEHARRK)(DIEHDIE 7,774,389 7,352,214 422,175
= 4,000
Al 7,770,389
I 2 7,335,213 6,944,172 391,041
eIz E] 7,335,213 6,944,172 391,041
101 Q14| 7,082,853 6,693,852 389,001
01 = 6,834,018 6,461,672 372,346
2= 4,901,636
== 4,524,587
-5 3,698,200& 2= «12& *1.035 91,864
-6 3,083,100& x10&8 122 +1.035 382,922
= 2,693,800& x15& x12& +1.035 501,855
-85 2,351,000 x7H+12&1.035 204,396
-9 1,367,100 x3F 128 x1.035 50,939
- 4,107,100 «13H 123 x1.035 663, 133
-2 A 2,785,700& x76H «12& *1.035 2,629,478
d2=d 4,524 587,000 *1/12x50%*23] 377,049
=g 1,164,466
A2t = 573,612
-5 10,4863 »2B 42 Al 2t 123 *1.035 10,940
-6 8,433 x10H 42 Al 2+ 122 1,035 46,651
-2 8,078 x 15«42 Al 2+ 12 x1.035 63,208
-8=2 7,252 x7TH*42 A 2t %128 %1.035 26,481
-9 6,555% *3H 42 A 2tx12& 1.035 10,259
-HR2t 10,5083 x13H #42A] 2tx 128 %1.035 71,259
-HAAL 8,620 *76H#42A1 2tx 128 x1.035 341,737
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SN EASBHAD
Y HH2HAY(BAZ AR )(IIEH/IIE
& QI 2A| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
—SS YA A
5,897 & 42 Al 2tx 128 +1.035 3,077
opR2fx= 44,324
—ARZ(AE) 3,503 *8Al2Ex512%1.035 1,480
NI ONEAES,
2,873 *8Al 2tx512%1.035 1,214
- A 2,873R xBA| 2tx7H +2502 +1.035 41,630
HEE 94,800
-t = At 40,0003 x120€ 12 57,600
-HA EHIS 20,000& 1559 123 37,200
ANHEHEHIEESE 44,077
-8 51,990& x20H »43] 4,160
-nESst 433,880 x23& *43| 39,917
S0 EH=E 500,000& 3E +12& 18,000
F2=EI3 114,120
-20= 0l & 100,000& «58H « 128 69,600
-154-204 0| ¢t 80,000 x21H ~12& 20,160
-108-154 0/ et 60,000 x 13+ 123 9,360
-5@-10&= 0| et 50,0003 x25H «12& 15,000
=) ) =) 17,880
-204-25E 0| gt 10,000& 14 » 123 1,680
-253 0 & 30,000 »45H x 123 16,200
B = R 114,930 «57 B 128 78,613
- RE2RY 71,280
43 50,0003 90 x12& 54,000
= 40,0003 x36E «12& 17,280
- REHESRASYE 50,0003 x2E x12& 1,200
s 7,920
65,738 30,000 13~ 123 4,680
-8 20,0003 x6H «12& 1,440
-t (OIS, JIAL 30,000& *12& 360
“JHAZ (AFIDIAL) 20,0003 x6E «12& 1,440
B RY 70,000 x 108+ 123 8,400
HAIAHRG 80,000 x89 123 85,440
s 40,000& x7H «12& 3,360
QY RsY 30,000& x2H «x12& 720
NS+ 30,0003 x2H*12& 720
ZAgaltl 130,000 x126E «12& 196,560
HE S I 4,524,587 ,000& *1/12x60%+*23] 452,459
A2 &I 4,524,587 ,000:& «86%+11/360 118,897
JIEHR 2 == 81,804
H ek 74,604
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S BAsHonE
Y HH2HAY(BAZ AR )(IIEH/IIE
chel: o2t o]
S HE - S(EH) - NRAY - BES sk oy S
0f 4 o
EETENED P
(69, 149,000€ ) +(69, 149,000 *66%*3. 5%) 70,747
- IESZ (S ) 40,0002 x12& 480
A ZAH 130,000& «12& 1,560
o JE 4kl 70,747,000 »66%*11/360 1,427
=28z 70,747 ,000& *0.55% 390
LASSTAS(SSLISFYAL
600,000& «12& 7,200
03 RIIHAZZXNE = 167,031
NE 2 HAH 12 152,384
2SS
(1,212,4703 «6H 122 )+(976, 5002 * 1 6 93,157
2)
NE=E 6,480
- < Xt 40,0003 x6E «12& 2,880
& Z=HlE 20,0003 15«12 3,600
Jl2ed
(1,522,470 x6H «60%)+( 1,286,500 » 1= +6 6,253
0%)
- HZ A
(110,000 «6H 122 )+(110,000& »1H «6 & ) 8,580
- JFHI2 =] 4,680
WSS A
(140,000 «6H 122 )+(140,000& » 1H «6 & ) 10,920
- GE S0l
(1,522,470 2«6 *120%)+( 1,286, 5003 * 1% * 11,734
60%)
- H2I S AtHI
(50,0002 *6H 12 )+(50,000& 1= 6 ) 3,900
COEXRESSIIEE 6,680
50 E8 = 14,647
- ZEASREZ 152,384,000& 4. 5% 6,858
- NEBEE 152,384,000& *1.4% 2,134
SMUHEE= 152,384,000& *0.705% 1,075
ALEEZ 152,384,000& *2.82% 4,298
LoEIRY BEE 4,298,000& *6.55% 282
Qs sAY| 252,360
Mg 2| 252,360
ARz (3SaY) 500,000& 128 6,000
AR (4SaY) 400,000& *12& 4,800
HAR(45) 400,000& 123 4,800
55 250,000& »2H « 123 6,000
6= 155,000 *10E « 128 18,600

_23_




SN BAEPR
M HY2IFU(BASEAR2R)(IIEH/IIE)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
= 140,000& *15H x12& 25,200
8=-9= 105,000& *10E x 123 12,600
o 250,000« 1B 123 33,000
o LA 155,000 *76E » 123 141,360
Jl23dl 439,176 408,042 31,134
= 4,000
Al 435,176
Jl23tl 435,176 403,042 32,134
201 Let23d| 94,681 93,431 1,250
01 AtE22/Hl 94,681 93,431 1,250
FA2Z JlE2+EHl 28,800
- BASFEARER 24,300
SMUSAMZ AL 4,500
==Y 49,620
EAZHATRRA 43,820
SMESAMZ AL 5,800
J=gfs8 =2l 16,261
202 O4H| 224,743 229,181 AN4,438
01 =LA bI 224,743 229,181 A4 ,438
2 =& 0 199,920
gASZAAR 166,080
SMSAMZ AL 33,840
22 EF NI 24,823
203 HRF&H| 33,010 33,880 AB70
01 J|22IFRF&H| 13,200 13,200 0
HRAF(32) 6,600
HR2E(43) 3,300
SAUSAMAANLE(43) 3,300
02 HRANMMPRFEHI 4,810 4,780 30
100Z It K 40,000& 100 4,000
101-400Z Nt X 30,000& »27H 810
04 EARIERFEHI 15,000 15,900 A900
ey 250,000& = 12& 3,000
R (350,000 +5,000& «60Y )« 12& 7,800
SNMSAMZAD 350,000& x12& 4,200
204 HPoHAH| 19,800 19,800 0
01 Mg HRHEH| 19,800 19,800 0
HRAF(32) 650,000& = 12& 7,800
2%, BE(42) 350,000 x2H =12 8,400
nHE, AE(53) 100,000& *3F » 123 3,600
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